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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION l‘Oil RECRUITMENT TO POSTS
IN BPS-17 UNDER THE FEDERAL GOVERNMENT, 2001.

Y DITING
PAPER.-I -

TIME: ALLOWED: THREE HOURS MAX!MUM MARKS: 100

NOTH:

* Altempt FOUR questions in all, including QUESTION'# 1 and 6 which arc
vompulsory. Question # 1 carries 40 Marks and nil others carry 20 marks each.”

I The following trial balance iy extracted from the books of a merchant on December 31,

2600:
Porliculars D(;:‘:' Cm;l:
Fumiture filthags 6,400
Motor Velncles 62,500
Buildings 75,000
Capitel account 125,000
Bad debts 1,250
Provision {or bad debis - 2,000
Sundry debtors and creditors 38,000 25,000
Stock on Janvary 1, 2000 34,660
Purchases and sales 54,750 1 54,500
Bank overdraft 28,500
Sales and purchases revims 2,060 1,250
Adverlising . 4,500
Mark up {on overdraft) 1,180
Commission 3,750
Cash 6,500
Taxes and insurance 12,500
Gencial expenses 7,820
Salaries 33,000

340,000 340,000

The following adjustments are to be madc:

(a)
(b)
(<)
(<)
(e)
(I}
(g)

2 ()
(b)
(c)
()

Stock in hand on December 31, 2000 was Rs. 12,000
Depreciate building ai the rate of 5% Fumiture & fitlings @ 10% and motor
Vehicles @ 20%
Rs. 850 is due for mark-up on bank overdrafl
Salarics Rs. 3,000 and taxcs Rs. 1,200 are outstanding
Insurance amounting to Rs, (000 is prepaid
One third commission received in respect of the work 1o be done next year
Write off a further sum of Rs. 1000 as bad debt and provision for bad debis to be
made equal 1o {0% on Sundry dcltors
Required:
Prepare a Trading and Profit & 10ss account for the year ended December
31, 2000 and balance shect as on that dute. :

Wihat is the journal entry for Ircatment of surplus arsing oul of revaluation of
fixed assets?

Al where in the balance sheel of a company surplus arising out of revaluation of
(ixed asscls is to be disclosed?

What are the [egal restrictions on disposal of surplus arising out of revaluation off
fixed asscls?

What is the purpose to which the surplus arising cul of revaluation of fixed ussets
can be applied?
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UNTANCY ITIN PER-1 -y

(¢y  Whal Jiscloses are required in the financial statements consequent upan
revaluation of assels? .
i In the first balance sheet after the revaluation?
i, In the balance sheets subsequent fo the first balance sheel aller revaluation

() Whatis the value of revalued fixed assets for depreciation purpases?
Comparative date for Mehdi Coporation Lid. for the two-years period 1999-2000 are :
presented oelow:
1999 2000
Rs. Rs.
Net Sales 1,000,000 1,200,000
Cost of Goods sold ' : 630000 760,000
Gross Profit on Sales ' 140,000 440,000
Sciling, Guneral, and other expenses __300,000 ____ 340,000
Net opctoling Incotne 10000 90,000
Inconic Taxes 15,000 35,000
Net {ncome 25,000 55,000 ,
Dividends paid 10000 40,000
Net increase (decrease) in retained
eamning {5,000 15,000
BALANCE SHEET DATA
1999 2000
Assels: Rs. Rs. |
Cash ) 35,000 55,000 A%
Trade notes and accounts receivable 320,000 400,000 ‘e ;
Inventory {at cost) i 380,000 420,000
Prepaid cxpenses 10,000 30,000 : 2
Plant and Cquipment (ne) 600,000 680,000 R
intangibilitics 100,000 100,000 ,
Other assels . 5,000 15,000 A
. 1,450,000 1,700,000 u J

Liabilitics ond sharcholders Equity

Rs. Rs.
Trade notes and accounts Paysble 165,000 205,000
Wages, interest, dividends Payable 25,000 45,000
Incowse taxes Payable ; 15,000 35,000
Misccliancous Current Jiabilities 15,000 10.000
5% bonds payable 300,000 300,000
Deferred revenues . 10,000 10,000
6% Preferzed shares, Rs, 100 par 200,000 200,000
Ordinaty Share Capital (Rs. 10 each) 400,000 500,000
Preiniwn on Share Capital 200,000 260,000
Approprioled Profits 60,000 30,000
Inappropriate Profits 60,000 S5;000

1,450,000 1,700,000

THECSSPOINT.COM



LY AND AUDITING, PAPER-I

Required;
From (he foregoing data calculate the foliowing for 2000:

(1) The ratio of nct sales to average tolal assels

(2) The ratio of net sales (o average plant and Equipment,

(3) '[lic rate eamned on net sales

{4) The gross profit rale on net sales AN

{5) The rate enrncd on average tolal sales -

{6) The rate carned on average sharés holders equity

{7) The number of times bond interest requirements were camed (before
income taxes) ' L

{8) The number of times preferred dividend requirements were eamed

The fotlowing is the balance sheet of the X Co. as on 31 December 200(:

Liabilities, Rs, Asssts Rs.
12,000 shares of Ks. 10 ¢ach " Land & Building o 100,000
fully paid 120,000 Plant & Machinery . 40,000
Sundry Creditors 30,000 Stock . © 15,000
[3ank Overdraft 28,000 Sundry Debtors L 22,000
Profit & loss A/c ' 1000

178,000 178,000

The Company wenl into voluntary liquidation and the assels werc sold to the Y Co. Lid.
FFor Rs. 150,000 payable as to Rs. 60,000 in cash (which sufficed ta discharge the
creditors and bank and pay the cost of winding up Rs. 2,000) and as to Rs. 90,000 by the
allotment of 12,000 sharcs of Rs. 10 each of Y Co, Ltd, Rs. 7.50 per share paid up v the
sharchelders of X Co. 1.4,

You are required to:
{a) Prepare iedger accounts to close the books of X Ltd.
(1) Realisation Account (1) Shareholders Account
(iii) Cash Account (iv) Suadry Creditors Accounts (v) Bank Account

(L)  Give journal entrics for recordings these transactions in the books of Y
Co. L1d. -

A fire occurred on Sepieinber 11, 2001 in the go-down of Electronic media Company
Limited, Which destroyed the grentest part of their stock and the following information
was collected on hat date: '

Rs.
Stock sl cost as al January |, 2000 100,000
Stock at cost as at January |, 200} 150,000
Purchases from January 1, 2001 10 September 11,2001 200,000
Sales from January 1, 2001 to Seplember 11, 2001 440,000

During the current year cost of purchiases has risen by 10% above last's yeac' s [evel.
Selling prices has gone by 5% Salvage value of stock afler fire was Rs. 10,000.

Required:

From the above data calculate the amount of ¢laim to be fodged with the Sunnse
insurnnce Company Limited for loss of stock

Twenty multiple choice questions are given below. You ere required to present your

answer book in the shape of following suggested format. No marks will be awarded for
overwritten answer:
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ACCOUNTANCY AND AUDITING, TAPER-{: -

M

(2)

3

(4

()

(6)

(N

(8)

)

(10)

(n

{17

(13)

{14)

S No. | Choice Rationale for answer

Books of original entry are called: . . :
(a) Ledger (b) Worksheets i ‘ (c) Joumal ‘(d) None of these.

For peeparing balance sheets prepaid txpeom are shoived as paﬂ of .

(a) Liability (b) Equities " {c) Assets (d) None'of these.
Unpaid and unrecorded expenses are called: 4
{a) Prepaid expenses  (b) Accrued expenses (c) Addmonal exponses

(d) None of these. , | : &2 Nl

Amount, cash, or other assets removed from busitiess by owneris: * 7 7T

{a) Capital “ (b) Drawings (c) Assels d’) None of these.

Under the diminishing balance method, depreciation lmoum fgi TRaaWE

(a) Payment (b) Receipt (c] Expaldilure (d) None of these.
. ’ s - g'i.' N

Uses of accounting information include: § e 3

(n) The Tox Authoritics {b) Investors (c) Cxedi!ors (d) All of lhesc.

The business forn(s) in which the owner(s) is (are) pasonauy bable is (até) the:
{u) Partnership only (b} Proprietorship only (c) Corponhoo only
(d) Partnership and proprictocship (£)." o vNone ofth&c

\
e
h

I'he investment of personal assets by the owner:

(a) Increases total assets and increases ownet‘s mul((
{b) Increases total'assets only! :

{c) Hes no effect on assets but increases owner's equl:y
(d) Increascs agsels, and liabilities. .

{e) None of these . Fn

All of the fuliowing are fonns of business organisations except:

(a) Proprietorship (b) Corporation , ; (c) Retgiler (d) Partnership .
(¢) None of these. . . : R s M

Economic resources of a business that are expected 10 be of benefit in the fulme are
referred 1o as: . we vy

f) Liabilitics (b) Owner's equity (c) Withdrawals (dlff‘p‘x g o
() Nonc ol these, 4 ’

N i ,’ v N .
An owner investment of land into the business would: = : yi
(8) Decrease withdrawals ~ (b) Increase lisbilitics {©) lncrcasc owm.z’l egull? ,
(d) Decreasc assels (@) Nonc of thepe; . I A e vas
": eyl \ 3 w
A cash purchase of supplm would: ' ' '

(3) Decrease owner's equity {b) Increase liabllities -
(c) Hove no effect on tota) asscls ) (d) None of theae.

An owner investment of cash inte lhe businc.ss would:
() Increase assets (b) Decresse ligbilities () Increase withdrawals
(d) Decrease owner's equity (&) None of these.,

The payment of rent each month for office space would:

(a) Decreasc total assets (b) Increase liabilities (<) Increase owner's equity
{d) None of these.

Real accounts are related to:

(a) Assels y (b) Expenses and Incomes

(¢) Customers and Creditors etc, (d) None of these.
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(16)  Which onc of the foliowing accounts would usually have a debil balance?
(a) Cash _ {b) Creditors (c) Accounts Payable
(d) Salaries Cxpense () None of these.

(7)) Quick Assets iclude, which of the following?
(a} Cash (b) Accounts Receivable (c) [nventorics
{d) Oniy {a) and (b) {e) None of these.
(18)  Netincome plus operating expenses is equal to: ‘
() Net Sales {b) Cost of goods available for sale (¢) Cost of goods sold
(d) Gross I'rofi (¢) None of these,

(19)  “The maximun: number of partners in Pakistan can be fixed st the following:
() 20 (b) 50 (c) 75 (d)  None of these,

(20)  Balnnee sheet is always prepared:
{u) For the year ended (b) As on a specific date {¢) Notie ol these

AAA LA AL A L)
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETICIVE EXAMINATION FOR RECRUITMENT TOQ POSTS
IN BPS-17 UNDER THE FEDERAL GOVERNMENT, 2001.

ACCOUNTANCY AND AUDITING
EARER-II

TIME ALLOWED: THREE HOURS ' MAXIMUM MARKS: 100

NOTE: Attempt FIVE guestions in all, including QUESTION # 9 which is COMPULSORY.
ONE guestion must be attempted from each part. All questions carry equal
marks

PART - A: T-A UNTIN

1. () Briefly Jeseribe the functions of the financial accountant and management
nccountunt highlighting the limitations of financial accountant in carrying out the
management objectives,

L)) Describe the rolcs in respect of authorily, responsibility and accountability of
financial accountant and inanagement accountant clearly defining the inter-
relation.

2. (a)  Define characleristic difference between Fixed Cost and Variable Cost
(b)  Followinp information of the manulacturing unit is made available to you for the
month of July 1996

BUDGET DATA:
Units 1000
Material used 3 kg per unit @Rs, 20 per kg

Labour per unit 2 howrs
labor rale per hour  Rs. 10.00

FACTORY OYERHEADS:

Fixed Rs.10,000

Variable Rs. 20,000

ACTUAL PERFORMANCE

Units completed 960

Malenais used . 2750 kg af Rs. 22 per kg

l.aber hours worked 1850 hours at Rs, 11 per hour
FOH incurred Rs. 26900

Reguired:
Compute Two Variance for each of the following ilems
(3) Matcrials  (b)  Labour () Factory overheads

ART -B: 1TI

3 (1) Lxpiain the term “teeming and lading” Bow can this type of fraud be
prevenled?
{L)  What is the responsibility of an auditor in detection of frouds.

4 During the Audit of Meat Packers Ltd. you are assigned (o cover the audit of the
payiolls of 80O employces

Page | of a4
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& ACCQUNTANCY AND AUDJTING, PAPER-LI
Enumierate the test, you would carry out 10 ensure that;

{1)  Allemployees are genuine (2)  Payments are ooly made for wotk donc
(3)  Statutory documents are properly effecied in accordance with the law
[EY) Pwpqt allocation of wages is made 1o various departments.

PART - C: INCOME TAX

S, Mr. Amjad has renicd out 2 home at a monthly rent of Rs. 1000, He has incutred the
following expenses in respect of the house?

Property tax Rs2000
Rent collection charges Rs 8000
Interest on loan from HBFC Rs,6000
As per real deed the tenant will bear repair charges.
Required: .
Compute the income of Mr, Amjad chargeable under the beed, Income from housce
property . :
6. An aggrieved assessec from an assessment order may make an application to the Income

Tax setlement commission for the settlement of case, describe the procedure and manner
in which the commission dispose off an application for sewlement

PART - D: NISAT ’

1. You are the officer responsible for meelings in your otganization, outline the proceduce
regarding the arganization of a meeting of the board of Directors undec the following
heads:

(1)  Theday beforethe meeting (2)  During the meeting
{3)  Aficr the meeting '

8. Deline Joint Stock Companics and Sole-propritlogship. Also state the differences
between the two forms of business organisalions.

COMPULSORY QUESTION

9. Twenty multiple choice questions are given below. You are required o present your
answer book in the shape of following suggested format. No marks will be awarded for
overwrillen answer:

$No. | Choice Rationale for answer

()  The |ﬁasumblc value of an aliernative use of resources 1s referred (o as:
(a) An opportunity cost (b) An imputed cost
() A differentinl coal {d) A sunk cost (¢)  None of these

(2) A quantilative expression of management objectives is an:
(a) Organizational chan (b) Mrnagement charct
{¢) Budget (d) Procedural chart (¢)  Nonc of these

{3)  Acostcenteris:
{a) A unit of production in relation to which costs arc ascertained.
(b) A locatian which is responsible for controlling direct costs
(c) Part of the lactory averhead sysiem by which costs are gathered
{d) Any location or department which incurs cost
{¢) Nong of these.

Page 2 of 4
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AANCY AND AUDITING, PAPER.II

4

(3)

- (6)

)

@)

+)

(1)

(1}

(12)

10
pL

Al break-even point of 400 units sold the variable costs were Rs.400 and the fixed
costs were Rs.200. What will be the 401 units sold contributing to profit before®
income 1ax?

(B Rs.000 (B)Rs0.50 (IRa1.00 (d)Rs1.50 () None of these.

In considering a special order situation that will enable a company ta make use of
currenlly idle capacily, which of the following cost will be irrelevant:

(a) Materials (b) Depreclation {¢) Direct lsbowr

(d) Vaniable factory vverhead (¢} Noae of these,

A Dixed cost:

(a)  May change in fotal when such change is nol related to changes in
production

{by  Will not change in 1o1a) because it is not related to changes in ptodumon
{c) Is constant per unit for cach unit of change in production

(d)y  May change in total, depending on production with the relevant range
(e) None of (hese.

Campletion of a job is result in:
(a) DR Finished goods CRWIP

{b) DR Costof goods CR Finished goods
(¢y DR WP CR FOH control
(d DR  TFOH control CR FOH applied

(c) None of these.

Operating cost is often named as:

(a) Manufacturing cost plus commercial expenses
(12} Prime cosl plus factory overheads,

(¢) Dircct material plus direct labour

(d) Scliing plus administrative expenses

(e) None of these.

Expenscs such as rent and depreciation of a building are shared by several
departments these are:

(a) Indirect expenscs (b) Direct expenses  (c) Juint expenses

(&) All of 1he above (c) None of these.

1f under-applicd FOH is closed 1o cost of goods sold, the journal entry is:

(a) DR Cost of goods sold CR FOH control

{b) DK ¥OH conirol CR Cost of gouds sold

(¢) DR FOII control CR Profil & loss account

(d) Nounc of these.

Re-order quantity =360 unils

Maximum consumption ~-900 units per week

Minunum consumption +-300 unils per week

Re-order period -=5 weeks

Based on Lhis data Re-order level is:

(a) 4500 units (b) 3900 units (c) 1200 units

{d) 400 units (e) None of these,

The time fag between indenting end receiving material is called:

(a) Lcad tune (b) klle ime  {¢) Stock outtime  (d) None of these
Page ol 4
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(14)

(15)

(16}

{17

(18)

{19

{20)

ACCOUNTANCY AND AUDITING, PAPER-TI

A credit balence yemaining in FOH Control account is called:
(a) Over applied overhead  (b) Under-applied overhead
{¢) Actual overhead {d} None of these

Dicrect material cost pius dicect labour cost is eafled:
(a) Primecost (b) Conversioncost {(c)  Product cost
() Alofthesc (¢} Nonsofthese,

Productivity means: ’

(0}  The ability to producc, (b) * Al units produce

{¢}  Goudunits Produced . (d)  Noue of these

A scgment of the business 1hat generales both revenue and cost is called: (a) !
Profit Center (b), CostCenier :

(c)  Costdriver (d} Allofthese  {¢}  Noneofthese

Yerification includes:

(8) Checking vouchers (b) Examining audit report (¢) None of these

Audit of a bank is generaily conducted through:
(a) Routine checking (b) Vouching
(c) Balence sheetaudit © (d) None of these,

Economic resources of & business (hat are expected to be of benefit in the futuse

arc referved to as: ; '
(a) Liabilitics (b) Owner's equity (¢) Withdrawals
(d) Asscts {¢) None of these,
Short-Teem Loan can be best described as:
{(a) 1{ the period is Uiree years (b) 1f the period is 1235 than one year, :
(¢) 1 the period is over one yeat.  (d) None of these. [’
%t b
|
Page d of 4
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U ALLOWED: THRVE 1ITOURS

&

FEDERAL PUBLIC SERVICE COMMISSION

COMPEVITIVE EXAMINATION FOR RECRUITMENT TO POSLS

IN PRS-17, UNDER THE FEDERAL GOVERNMENT, 2002

ACCOUNTANCY AND AUDITING, PAPER-

MAXIMUM MARKS: to)

NOTE: Attempt FOUR questions in all, including QUESTION NOS, 5 & 6
winch are COMPULSORY. Question No. 5 carries 40 marks, All other
yuestions carry EQUAL marks i.e. 20 each

| Lxphtin coneept of depreciation. Spell out its implication on Prolicand Loss

rJ

Accountand Balance Sheet, identify four ways of depreciating lixed assels,

Hinstete your answer

Eaxplain tein prinviples of Accounting and their applications w Invesimient

CONCLms.

he following wlormation relating 1o Dawood Company in respeet of year 2001

is available:

Net Sales 71200000

L Cost ol goods sold 760,000

| Gross profit on sates 440,000

| Sclling, cencral and other expenses __A50,000

[ Operating income 90000
Tncome - tax __ApS00
Net mcome 49,540
Dividend pavd 35000

| Net icrease in retained earnings 14,500

Balance Sheet Data
Assets Ry
Cash ) R A Gin.uﬁb'f
Accounts Reccivables | 300.000
laventory  atcost (Reginning of year Rs.420,000) 30000 |
Prepaid expenses 30.000
Lund, building amd ¢quipment 160,000
Intangibic assels 100,000
Other fixed assets _ Jo.00¢
e . T700000
Capital and Liabilitics

{ s,

[ Accounts Payable T 120,600
Accrucd cxpenses . 25,000
Income 1K payuble i 1 39,500
Miscellaneous Current liabilities ! | 10,000

j Bonds Fol 300000
Deferred revenues | 1).000

i 1ud up share Copital 700,000
Additional pard-in-Ca 310,000

; Retained carmings

{ = appropyiated &0.000

I - unappropriated 105,508

L = - TFHECSSPOINT
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ACCOUNTANCY AND AUDITING, PAPER-1

REQUIRED: Caleutate the following ratios and olfer your comments in terms of
imerpreaian:

H Armount of working capital {compute ainount). '
(2)  Curenl Ratio, '
8 Acid Test Ratio,
By uys accounts receivable uncollected (use 360 days per year on!
assunie all sales on eredit basis)
i5) lnventory 1urnover rate.

v () Ratio of shareholders equity to total habilifies i
4. Lxplain and iltustrate the concepts underlying the following:
{a) Flexible Budgeting. (b) Fixed Budgeting.
() Ralling, Budgeting.
COMPULSORY QUESTIONS
S. The unadjusted trial batance at the end ol the first year of aperation s shown

belawe:

F R [T T 7Y ST UL
Cash L 200 |
Accounts Receivable 1,500 1
Prepaid Advertising 400 '
Supplics on hand 1000
Cguipment 9.600

1 Accounts Pavable 800
Naseer's Capital f 10,000
Nascer's drawing 3,600
Service lees carned - 14,000
Hent expense and olher expenscs 5,500
Wage expense 1,000 »

L . 24,300 24,800

Further mivrmation as ot December 31, 2001 1s as under:

Prepuid sdvertising covers the months of December 2001 1o March 2002,
Supplies on hand at December 31 was Rs.1.300.000.

Annual depreciation on the equipment is Rs.1,200,000.

Service fee carned but not yet Nlled al December 31, 2001 was
Rs.400,060.

5. Rent of R, 500.000 for December has not been paid.

b, Accrued wages at December 31, were Ra.150,000.

REQUIRER: Prepare [inal accounl financial salements incioding bajanee sheet.

it i o

0. From the following multiple choice questions give correct answer in your answer
vook in the following suggested format:

SNu, of [ Corcect Answer Rationuice -
the tndicate only

question | aiphabey

1

————— — ——— - o —— T — - — ——— —

Maximumn number of partners in a Partnership firm set up in Pakistan
under Partnership Act, 1932 is:

—— o | -y ——

T e e — T —— —

s v las

Rt i L L —

—— e A e

(c) j20 () [None of llicse.
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i‘)_ [Return of I “quity will be mlculated us winder:
f(t) Opcraung l‘: oﬁtx 100 h) Nsl I’ruh. 100

—
10 “Current maturity of long term Toan is:

¢) (None of these.

A\
ACCOUNTANCY AND AUDITING, PAPER-I
i s S s it
l 2 l'rcpnramm of final ﬂn:mual epurts is g(m.mud in Pakistins under: :
l {0 No law 1lb) E’omwmcs Ordinance 1981 |
! i anly, :
. I N <.
i {e) INone of hese, :
3 [Depreciation is based on:
! i(a) Economic hfe of asset (b Dreclared life of nssel ||\ !
l I supnlhicr. i
IL-J Nnmml lllc ofusscl _{d) INouL ol these. g
@ lnventory wenover is calculated as onder- l
() | Costal Goods Sold £h) l GrossProfit
Closin glnwnlon C Iuscm.ln»cnlory
13 Sales dy !Nom: nl’lhe'ze t
Opcmng Inventury : | I
EPNSY | | sk REPIR
S [There is a difference belween:
(o) [Worksheet and Balance Sheet (b} |Worksheet and Profitand
L.oss Account
: T e T
() [Worksheet as combination of i) INbne of these.
: iresuits of profits and financial ! ‘ !
position J'
\6 Defereed Revenue is a:
W) _[l.inbilily i1b) [Asm
Gt s i s a5 s i i il
K(‘”fouxe of these. | ]
Preparation of annval repagt of a firm s governed under: ﬂ
{2) Ianncrship Act 1932, ;(b) {Under Partnership Deed
“w - - | P— —_—— -— —
¢} [None of these. I '
- ——
N Defcucd Taxation amount be malul a5 ;
’(a] Fool nate ’(h) [An item in the Balance Sheet |
L _Jon nsser side :

[ —
|
i

t: qmly Paid up Cnp.lalonlv

3 el

A, —— |+ W— y - —

(e ' [None of these.

CHRN S —————

1

(2) ]Cunem Liability b) [Lonp Term Liability
(€] [None of these. R -

]

LRI DAL L D)
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FEDERAL PUBLIC SERVICE COMMISSION

COMPLTITIVE EXAMINATION FOR RECRUITMENT TQ POSTS
[N PBS-17, UNDER THE FEDERAL GOVERNMEN'T. 2002

ACCOUNTANCY AND AUDITING, PAPER-!T -
TIME ALLOWED: THREFE HOURS - MAXIMUM MARKS: 100
NUTE: Atiempt FIVE questions in ail, including QUESTION NO. Y which 1s

COMPULSORY. Select one question lrom ench ol the PARTS A, B, C
and DAL questions enrry EQUAL marks.
ART A C CCOUNTING

i Explaia ten uses of Cost Accounting in real life. Highlight ponns giving edpe 1o
Cost Accounting over Financial Accounting in respect of above uses,

i A prodnet passes (hrough twa processes, The ovtpul of gach process is tieated os
vy material for the next process. The expenditures incurneed during i pmud weie
as under: i i ea—

Paruculars Process
N ARy BRy
itaw malerials 400,000 200,000
ireel L abour 60,000 40,000
actory Overhend 100,000 100,000
Folal Manulacturing Cost | * 560,000 340,000

10,000 units were issued (o lhc precess - A and after processing, the oulput of
each process 1s as under:

varticulars B Qg!m. lnM -I:!Tmlﬂl Loss
ﬁ.. A U S % L1L1-> SO IV S,
ocess A i 9,750 2

IProcess 13 i 9.400 §

No Stock of maierial or work in process wis

leltutthe cml. G % P

REQUIRED: Prepare I'recess Aveounts to show the cost ol the linished arlicles,
PART “B” AUDITING

1 State and explain Limitations of Audit. Outline an avdil program for vouching
acqussition of fixed assets in a limiled company.

4. Expiain duties af an auditor for conducting, various lypes of audits under the
Compasues Ondinance 1984,
PART “C" INCOMUE TAX

Present o locid review of ax rtes governing vanous types of inconte-1ax
assessees contained i e First Schedule af the Income Tax Ordinance, 1979,

-

6. The following information available in respect of Mr. “A” for lhe assessment yeor

2002 - 2001: o

LA L R e

¥asic Salary 360000

Arrenrs of saplary 50,000

Leave encashiment 25000

Howse rent allowance 200,000

Rent received from a (:minpm)y X 160,000
Other inlonnation is as under: :

Repuirs 100.000

interest on loan Jor house construction 75.000

Muaicipal tax 15.000

Insurance preiminm paid o— 10000

Required: (.'ompulc taxable icome for nzr:ssm* dg §g 6??\| T CO M
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ACCOUNTZ. " 2 AUDITING, PAPER-H
PART “D" ] LGANI
7. Currently business combinauons are taking pluce globally and domesticaily. State
principles governing business combinations as part of negotiation.
8 State comprchensive pote on terms and conditions goveming long term liniacing
relating 1 an industrial conce.
( SORY QUESTION
. From the fullowing multiple choice questions give correct answer in your answer
book tnthe following snggested format. No mnrk{s) will be awarded for an
averwritien answer:
SNOTOF [ Correat Answer Rationale for ihe answer el
the “indicate unty alphabet
yuestion L s
| " P—— s Fu el GE———— w— ¢ + B P . @
I IPome cost is calculated as under: .
ta} [ Marufacturing Cos! by [Direct Material plus Bctory
| Costof GondsSoid vetheads '
(g)IDnu,I Labour + Direct Material |(d) | Noie of these, .
2 [Process Costis very much applicable in-
, (i) jConstruction Jnelustry (b1 [Pharmaceutical Industry. ~
i (c _) mr line line company. — id ) Nnn_c_ gl:_l_lgg_su.__ -
3 Fhe lalest computation af varianees of mant actiring overiwads is inone
L e following ways: o
() [Two variance appwaches (hy |1 hree vonance approaches
(€) [Fuur varinnce appronches —— [(d) [Nowe of these. |
4 Random sampling in auditing means: ;
1) | Seleetion through convenience [(b) [Selection thiough scieitific

smpling | lsapling approach.

ae) INone of these,

b Expsndllurc meurred in procuring machinery is:

ta) [An wdimissible upcndulurc !or (by [Notadmissible for s !
lax purpuses uIpoRes '

lL‘)' None of these as un
Iunlep\:mlml expenditure.

r— S S P S S N S U

O lincrease i incone constiuies;
(2 _)_]Inﬂom (b) Omflows
c}

—

PSR p—

_( None ol these I

T M & A stands for ' R

: (11 [Marpers & Analysis 1(b)_Mcrgers & Acquisitons !

B (c) IMerpers & Allucilion [(d) | None of these. !

$ [An uldowmcni Insurance pt')lu.v can be taken in n'spul ol !

(aﬂl Irc insurance 1h) [Aceident msumnu i

e JAife insurance () | None of these, |

@ Audivand special audit ace the same: i i

| r|1 newance Company 4(}:!_ In Banking Company it
g l_) Nune ul !lumc _1 I el

d0 [Acid” lest i s l|le sumews: s L

i () I()lmk test o : (hi _|I.iq!.!tg!nlgg .

v i) None ol 1'&\1: ; t

LIS -— - o o c——

LA R L]
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR RECRUITMENT TO POSTS
IN PBS-17, UNDER THE FEDERAL GOVERNMENT, 2003

ACCOUNTANCY AND AUDITING, PAPER-I
TIME ALLOWED: THREE HOURS MAXIMUM MARKS: 100

NOTES: ()  Aucmpt FOUR questions in all, including QUESTION NOS.5
AND 6 which are COMPULSORY. QUESTION NO. 5 carries
40 marks. All other questions carry EQUAL marks i.c, 20 each.
(i)  Give workings to solution of questions, wherever relevant,

L. Explain various concepls of Budgeting as practiced globally, State budgeting
system being followed in Pakistan. Identify five limitations of the above
system and suggest directions’of change for improvement,

2. Explain various legal provisions goveming principles of accounting and -
provisions relating to preparation of financial statements rejating to banks in
Pakistan, :

3. Peshawar Manufacturing Company was established in June, 1999 to
manufacture a single product using a machine costing Rs.1,000,000. The
machine is expected to Fast for four years and then bave a scrap value of
Rs.130,000. The machine will produce a similar number of goods each year
and anpual profit before depreciation is expected to be in the region of
Rs.500,000. The Finance Manager has suggestcd that the machine should be
depreciated using either the "Straight ~ Line Method™ or the “Reducing
Balance Method™, If the latter method is used, it is estimated that depreciation
rate of 40% would be appropriate.

REQUIRED:

(1)  Calculate annual depreciation charge and net book valuz of
the machine at the end of 2000, 2001 and 2002 using:

(a) Straight — Line Method.

(b} Reducing Balance Methed.
{2)  Offer your coruments on the use and implication of these two
methods for the years 2000 to 2002.
(3)  Advise management as to which method should be more
appropriate.

4. The Directors of Master Public Limited Company rcquires Rs.500 million to
' iavest in a new project. Extracts from the financiol stalements arc s under:
Profit and Loss Account for the year ended December 31:

Particulars - 2001 2002
Million Rs. Million Rs.
Sales - 6,175 6,329
Operating Profit 350 320
Less: Intcrest Payable 30 30
Net Profit before Income Tax 320 290
Net Profit after lax 128 116
' 192 174

“Summarised Balance Sheet us at December 31:

THECSSPQOINT.GOM
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ACC QUNTANCY AN ) AUDITING PAPER-I
Million Rs. Million Rs,
Assels: . 1
' Fixed Assets (Net) I 901 ‘ 1,664
Stocks ; 447 426
Dcbiors i 308 | - . 321
Balance at Bank 52 ; 11
1,708 1,822
ital & Liabilitics:
Paid up Capital 500 S00
Reserves and Surpluses 325 : 649
Loan - 10% Debentures 00 300
Creditors 205 207
Taxation Payable 128 116
Dividends e+ - 50
q 1,708 1,822
3 REQUIRED: - ' 3
3 Undertake financial analysis by using pettinent ratios and present :
1; your candid review on the performance of the Company. :
: |
3 MP R N i
] - ;
: 5. The following balances were extracted from the ledger of Mr. Irshad os on
;‘ June 30, 2003:
l Particulars Rs. f
1 Property = at cosl 90,000 :
Equipment - ai cost 57,500 i
Stock 27400 ;
Purchases 259,600 :
Sales ‘ - 405,000 :
Discount allowed 3,370 :
Provision for depreciation - Property 12,500 .
- Equipment 32,500 ¢
Discount received - 4,420 : ’
Salanics and wages ¢ 52,360 i
Bad dcbts 1,720 :
Loan intercst ) 1,560 !
Carriage outward ' 5310 ;
Other operating cxpenses . 38,800 :
Trade Debtors 46,200 !
Trade Creditors 33,600 '
. | Provision for doubtful debts ' 280 !
{ Cash jn band 158 i
Bank Overdruft ; 14,500 l
Drawings 28,930 i
Loan @ 15% . 12,0600 !
Capital july ]. 2002 98,101 :
The following sdditional information as at June 30, 2003 is available: :
1. Stock at the close of business was valued at Rs.25,900. .
2. Depreciation for the year ended on June 30, 2003 has yet to
be provided as follows:

(@) P, + 1% using stréu
(:) E;ou;:cpr:lycm 15% using mmmou\”— CQM

3, Salaries and wagcsare:ccruedks 1,400.

* Page2o0f3



1 ANCY AND AUDITING, PAPER-I
ry

Other operating cxpenses include certain expenses prepaid
by Rs.1,500. Other expenses include this heading are
accrued by Rs.2,000, .

S, The provision for doubtful debts is to be adjusted so that it
1s 0.5% of trade debtors as at June 30, 2003

6,  “Purchases” include goods valued at Rs,],040 which were

wilhdrawn by Mr. Irshad for his personal usc.

R ——

REQUIRED: .
1. Prepare Trading and Profis and Loss Account for the year ’

cnded on June 30, 2003 and Balance Sheet as on the :

above date.

2. Prescot Adjusting and Closing enlries,

e} -~ ———

6. Deliver the correct answer in the answer. book. Over writing is not allowed.
Overwritten answers will carry no grade. The following format should be used for

answer:

1 S.No. | Correct Alphabet of | Rationale
answer :

(1) Acid Test Ratio is calculated as under: '
@) Current Assets Fixed Assets .

b
Current Liabilities (6) Current Liabilities

Liguid Asscts @
Cumrest Lizhilinies '

Nooe of these,

(©

{(8) Liability - (b) Asset

& (2) Deferred cost is a:
:‘ . {¢) Nonec of these.

&) Work sheet is:
{a) Balance Sheet (b) Fund Flows Statement

(€) A combination of Profit and Loss Account anfi Balance Sheet
items.
(d) None of these.

(4)  Banks, for the preparation of financial statements, are governed under:
{a) Banking Companies Ordinance, 1962.
(b) State Bank of Pakistan Act. .
(c¢) None of these.

(5) Return on investment is computed:

. Profitx100
{a) Investment . o0 b ——
Profit . Investment

(¢) None of these.

Andebrtan
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v e kAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR MCRUlmENT TO POSTS
IN PBS-17, UNDER THE FEDERAL GOVERNMENT, 2003

ACCOUNTANCY AND AUDITING, PAPER-II

T ALLOWED: THR URS IM A :
NOTES: (i) Attempl FIVE questions in all, including QUESTION NO.9

which is COMPULSORY.

(i)  Selectat icast ONE QUESTION from each of the
PARTS A, B, C AND D.

(iii) Al questions carry EQUAL marks,

PART “A” (COST AC 'ING
1. “Cost Accounting is considered as a tool o management.” Explain various

aspects of the above statement and explain dimensions as to how cost
accounting can serve as too! of management, ~

2. The following standards have been cstablished for the operation of the X
Company: "
Standards:

Materials: Quantity per unit 2% yards price per yard Rs.17.

Labour: Time per Unit 3.6 howrs. Hourly rate Rs.18,40,
Overhead: Fixed charge Rs.24,000 per mouth.
Variable Rate Rs.15.00 per unit.
Production for the month 40,000 units.
Actual Reports for the month of April.
Produ‘ction 41,200 Units.
Material used 10,510 yards at average of Rs.17.40.
Labour 15,276 hours at average of Rs.18.80,

Overhead — variable: Rs.66,750.

REQUIRED:

Prepare a statement showing actual and standard costs and amounts of
variances. Use the two-variance method for averhead. '

PART “B" (AUDITING)

3. Differentiate between “Internal Control” and “Internal Audit”. Suggest en
point Intemal Contro! System for laventorics.

% Present a lucid analysis of Liabilitics of an Auditor. Cite case law whercver
relevant. :
PART “C” (INCOME, TAX)
s, Present salient features of law goveming “Income from Business” under the
current income ax of Pakistan.
6. The following information relating to Miss Y is available relating to year
ended on 30-6-2003;
Particulars Rs.
1. Salary 240,000
2. Bonus Received ' 60,000
3. Convcyunce allowance received 7,600
4. Leave encheshment : 80,000
5. Dividend Received ) 70,000
6. Income (rom Prize Bonds 100,000
REQUIRED: THECSSPOINT.COM

Compute Taxable Amount for assessment year 2003 - 2004, .
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PARY “D” (BUSINESS ORGANIZATION FINAN

Curreatly several Business Combinations are taking place. These are through
scveral methods including Mergers and Acquisitions:

REQUIRED:

(#)  List steps involved in Business Combinations.

(b)  Explain five bencits of business combinations.

‘Explam the formulas governing the following ratios to be caleulated in a large
manufacturing Company:

(1 Times Interest (Mark up) camed.
Note; State minimum acceplable standard,
(2)  Debt Servicing Ratio.
(3)  Liquid Ratio.
Note: Suggest the minimum acceptable rnuo
(4)  Debt Equit Ratio,
Note: Suggest a fuir ratio in a capital intentive company
project.

PU ISTION

Deliver the correct answer in the answer book by using the following format and
giving rationale for your answer which carries half grade weight. Any overwriiten
answer will not carry any grade,

S.No. | Correct answer * Rationale

Give the alphabet or serial number which yo\i consider represents correct

answer.

4]

Rent of the premiscs constituies variable expense for cost allocation:

. {a) True (b) Talse

2

&)

@
oN

(©)

7
)
&)

(10)

Sugar used in a sugarcane coppany is:
{a) Vanablc cost (b} Fixed cost
(¢) Nonu of thesc.
An auditor is lisble under the following circumstances:
(a) Third Party Liabilities
(b) Fraud perpetrated in a highly sophisticated circumstances:
{c) None of these.
Agricultural income is laxable under the Income Tax Laws
Pakistan.
(3 Truc (b) Falsc

of

Principal and markup payment within one year constitutes long term

liability for disclosuze in the balance sheet of 2 company.
() Truc (b) False

Ordinarily one can have the following partners in a panne:shlp in

Pakistan undcr the Parloership Act, 1932:

(@) 10 (b) 20

() 30 (d) Nonc of these.

Working Capital finance can be termed as "Running Finance™ in &
limited company.

(a) True (b) False

Income from Capital gdios arising out of trading on a mock exchange

in Pakistan is taxable these days.

(a) True {(b) Faise

Conversion Cost is Caleulated as under:

(a) Labour Plus materials (v) Lebour plus overheads
{c) None of these.

Current Ratio can be calculated as under:

@ Current Liabilities ®) Current Asscls
Current Assets Current Liabilitics

(¢} None of these,

Abdbadrin

£

WAMAATRLTE 4) Lo e o o S .

T e .

THECSSPOINT. COM

T
NC




FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION FOE R iCRUITMENT TO POSTS IN
BPS-17 UNDER THE FEDERA L GOVERNMENT, 2004,

. ACCOUNTANCY & AUDITING, PAPER-]

VIMEALLOWED: TUREEHOURS _ __ _ MAXIMUM MARKS: 100
NOTE: (i}  Attempl POUR qucstions in al), includii g QUESTION Nos. 5 AND 6 which
are COMPULSORY. QUESTION NO 5 carrics 40 marks. All other questions
carry FQUAL miarks i.c. 20 marks esch,
(i) Give workings t solution of questions, \ herever relevant,

A

L. What is a Tria! Balance? Why is it prepared? What are the two methods of preparing il
and which of them is a better one and why?

2. Answer the following short questions briclly. Eacli question carries two marks.
(a) Definc ledper
(b}  List three disadvantages of not preparing Loe Trisl Balance.
(¢} Give two examples of emors of principle.
(4}  Siate bwvo imethods of charging depreciation on fixed asscis.
(¢) What i reserve for doubiful debis?
() Why it revaluation account prepared?
(gy  Bnumcrate ol least four reasons for which a cheque is dishonoured,
(h) What are capilal receipts?
Q) Name two methods of preparing final accounts rom incomplete recotds.
) What du you understand by closing entrics?

e Given below i, the Receipts and Payments Account of the Eagle Club for the year ending
3i* December 2003,
Rs. : Rs.

Balance bid 10,250 Salaries 6,000

Subscriptions Gencral expenses 754

20602 400 Drama expenses 4,500

2003 20,500 Newspapers cte. 1,500

2004 600 Municipal taxes - 400

Donations 5,400 Chanty 3,500

Proceeds of Deama tickets 9,500 Investments 20,000

Sales of waste paper 450 Electricity Charges 1,450

Balance ¢/d 9,000

47,100, — L1

Required:  Prepare the Club's Incowme and Expenditure Account for the yeur endud
31¥ December 2003 asd its Balance sheel as on (hat date, after inking the
following information into account:

(a)  There are 500 members, each paying on annuol subseription ol Rs.50, Rs.600

bemg in acecars for 2002, -
(b}  Municipal taxes amounting to Rs.400 per annum have been paid up to 317 Maich
2004 :nd Rs.500 for salaries is outstanding,

() Building stoud in the books ul Rs.60,000 and it is required to write ofl’
depreciation al $ per cent. X

(d)  Jour per cont interest has acenied oo investments for five months.

4, A and I3 were in punesship shating profit and losses in the propurtion of three fourth and
one fourth respectively. Their Balance Sheet stood as follows on 31* December 2003,

Liabilities Rs.___ Qssels Rs.
Creditors 17,500 Cash al bank 22,500
Capital Account “Bill Receivable 3,000
A 40,060 Bouk Debis 16,000
B 10,000 Stock 20,000

Furuiture 1,000

Duilding 25,000

R7.300 THECSSP@HNT.COM

Poge 1 of 3




ACCOUNTANCY & DITING -1z . ™
N
They admitted C into partnesship 1" January 2004 on the following werms; N
(@)  That C pays Rs.10,000 as his capital {or 1/5 shave in the future profits, N
() That goodwill for Rs.20,000 is raised in the bouks of (he uew fiom \\
(€)  That stock and furniture aro reduced by 10% and (hat a 5% provision is made for )
likely badl debis. !

(d)  That the value of the buildings is increased by 20% and
() That the capital Accounts of A and B are readjusted vn (he basis of fleir profit .
sharing ratjos,

Required; I'ass the necessary journal entries and give the ledger Accounts amd
opening Dalance Sheet of the new fium,

5. The following balances appearcd in the tooks of & merchant on 31 December, 2003,

Rs. Rs.
Building 70,000 Camjage i Purchases 1,291
Motor Trucks 12,000 Carnage on Sales §00
Fueniture 1,640 Reserve for Bad Debts 1,320
Sundry Deblors 15,600 Establishincnt 2,135
Sundey Credilors 18,852 Taxes & Insurance 783
Stock 15,040 Interest(Cr.) 340
Cash in hand 988 Bad Debis 613
+ Cash at Bank 14,534 Audit Fec 400
Bilis Receivable 5,844 General charges 3,950 .
Bills Payable 6,930 Travelling Expenscs 325
Purclases 85,522 Discount(r.) 620
Sales 1,21,850 Investments §922
Capital 92,000 Sales Refurns 285

Reguired:

Prepare Trading and Profit and Loss Account for the year ended 31" December 2003 and

Balance Sheet as un that date. In doing sa take the following matters into consideration. ;

(1) Stock va 31* December, 2003 amounted 1o Rs. 1 5.500. -

(i) Depreciate Motor Trucks at 20 per cent and Furniture at 10 per cent,

tiii)  Incrcase Dad Debis Reserve by Rs. 1,000, ’

(iv)  Saluties Re.500 and Taxes Rs. 150 are outstanding,

V) Un-expired Insurance Rs.50.

(vi)  Interest accrued on Investments Rs. 210.

(vii)  Rent duc for a portion of the Building let Rs. 150,

{viit) A bill receivuble for Rs.S00 was discounted in Necember 2003 but was not due
till January next. .

0. Deliver the correct answer in the Answer Book. Over wriling is not allowed,

Over-written answer will carry no grade,

(1) The need for kecping a record of incomie and expenditures in a elear and
systemalic mannce bas given rise to the subject of*
{a) Hook Keeping ) Accounting eycle
(€)  Manufacturing {d) ° Nowuc of these

(2} if proper books of accounts are not kept in a business the amount of profit:
(@)  Can be ascertained (b)  Caunot be ascertained
(¢)  Easily ascertained (d)  Nouc of these

(3 The stage under which transaction are recorded chronologically in the books of
accounts is called:
(@ Summarizing (b}  Classifying
(c) Recording (d) Noue of these

(4)  Book-keeping is mainly concerned with:
(8)  Recording of a Ginauicial data relating to business transactions
(b} Designing the systems in recording, classi lying, summarizing the vecorded
data
() Interpreting the data (ur interual und cxtenal users

(d)  Noue of these | TH ECSSPO| N;r‘gcgo(PJM




(N

(8)

(7

(1)
(n

(12)

(13)

(19

(15)

{16}

(7

(1%)
(19)

(20

‘The teym expense and cxpemditure are:

() Same i nature (h)  Different in nature

(c}  Oppositc in natue {d) None of these

When goods arc given away as charity or free samples. the putchases account
should be;

(a)  Debited (b) Credited

(€)  Reconded in balunce sheet  (d) Noue of these

"The sale of a business asset on credit is recorded in:

(a)  Sales joumal (b) . Genernl journal
(¢)  Cashrceeipt journal (d) None of these
he discount account is a! /

(a) Personal account {(b)  Reuwl aceount
(«) Nominal account (d)  Assel sucount

(¢) None ol these :

The payintents side of the cash book is under cost by 1:5.200 when overdiall as per
bunk statement is the startiog point:

() Rs.200 will be deducted (b)  Rs.200 will be added

{c) Rs.400 will be udded (d)  Rs.400 will be deducted

All the disect expenses are choiged Lo:

(a) Ialance sheet {b)  Profitand Loss Account

(v) Trading account (d) None vl these

Those liabilitics which arise only un the happening ol some cvent, are called:
(a)  Current liabilitics (b)  Contingent liabilities

{¢)  Outstanding liabilities () Fixed liabititics

Marshalling of balance sheet means:

(a) ‘The ordening of its assets and Jiabilitics

(b  The totaling of ils asscis and liabilitics

() lixcess of asscts aver habilitics

(1)  None of these

Commnission received in udvance is 1o be considered as:

(a) Ouistanding expense (b} Accrued income

(c)  Prepaid expense (d} Unearped inconie

The provision for discount on creditors is oflen not provided in keeping with the
principle of:

() Matcoality ()  Consistency

{c) Conservahsm {d)  Realization

Which ane of the following is not considered the permanent part ol he
accounting record:

(a) Journl (L) Trial B3nlance

ic) Balance Sheet {dy  Vinal Account

A working paper whicli is prepared by the accountans for bis own conveniched is
calivd:

() Work sheel (b)  Cush {lows stulcment

(c) Balance sheet (d) Final avcounts

Any expenditure incurred 10 increase the prolit caming capacily of the concern is
n

(n) Revenue expemditure (b)  Currenl expenditure
c)  Capital receipt (d)  Capital cxpenditure
Depreciation on fixed asscts s an example ol

(a) Revenue expendituce (b)  Capii expenditure

{c) Deferred revenue expenditure(d) None ol these

The capital receipls arc shown in the balance sheet o the:

{a}  Liability side (b)  Asselside

{c) Debit side (d) None ol these

Lnor duc o wrong allocation us expenditure betwecn capital and revenue is
regarded as:

(a) Enor of omission (b)  Errex of principle
(<) Compehsating crrors (0) Ercor of commission
CEALE R R L AL DAL DL L
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TIME ALLOWED: THREE [IOURS

FEDERAL PUBLIC SEXVICE COMMISSION
COMPETITIVE EXAMINATION FOR RECRUITMENT TO POSTS IN

NOTE: (i)

]

By

0.

(ii)

BPS-17 UNDER THE FEDERAL GOVERNMENT, 2004.

M

Attempl FIVE questions in all, including QUESTION NO. 9 which is

COMPULSORY.

Sclect at least ONIE. QUESTION from cach of the PARTS A, B, C and D. All

questions carry EQUAL marks.
g -A: (€

Deline Cost Acconnting. Discoss its objectives nad distinguish it from financial
ACeomting.

The foillowing data relale 1o the Shirley Company:

Iiengled jroads Rs.
Work in process
Dircet matecialy

Costs incuired during the period:
Cos1s ol gouds available for sale
Tolal manufacturing costs
Factory overhead

Direct malerials used

lnventorics
Ending Beginning
95,000 Rs. 10,000
80,000 70,000
95,000 90,000
Rs. 684,000
584,000
167,000
193,000

Reqguired: Statement of cost of goods sold, includiog all beginning and ending inventories.
PART- B:_(AUDITING)
Delinc Final Audit and explain its merits and demerits.

What is an Audil ’rograsn? Explain its advantages and limitations.

(@)

(h)

ART-C: (IN

Discuss the residentia! status of the Follo\v}ing Taxpayer:

(i) Individual ~ (ii}  Compuany

(i)

Association of Person

List down the CONSTITUENTS of Income Tax Law in Pakistan.

Irom the lollowiug data, caleulate income Lax payable by Mr. Fahad for the tax ycar
uiling 30" June, 2003,

)
(2)
3
(4)
(3

(6)

@
(8)
(9)
(1)
(1
(12)
(13
(14)

Basic Salary
Bonus
Scoior Post Allowange
House Rent Allowance
Medical allowance
{Aciual Expenditures incurced Rs.3000)
Entertainment Allowance
(Actual Expenditures incurred Rs.7000)
Gas and Electricity Allowance
[eave encashment
Special pay i
Orderly allowance
Income as non professional wriler
Special Allowance
Donation to Bajt-ul-Mal
Zakal Paid

1,

Rs.
15,000 P.M.
10,000

2,000
25,000

4,000

6,000

18,000
2,500
2,000
5,000
4,500
8,000
2,000
3.000

THECSSP®INT.COM
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JUNT. AUDITING, PAP (R.1:

(a) Describe registration of pastnership. Whg( are the consequences of
non-registration?

(b)  Enumeratc rights, duties and liabilities of partuers?

(1) Deline busincss linance and discuss the advantages and disadvantages of debl
financing.
(b)  Whatisa capital market? Explain in detail,

Deliver the correct unswer in the Answer Book. Do not rqxoduoelheqmzdon Ovco-

writing is not allowad. Oveg-written engwer will carry no grads.

(1)  The heal freatinent dcpmmenl at Noori Pipe is the third department in a’
sequential process. The work in process account for the depariment would oous:s
ef:

(a)  Cost transterred in from (he prior department

(b)  Mulerrals costs added in the heat weativent depaiiment

(c) Conversion costs added in the heat yeatment depuartment

(d)  All of the above

fe)  Nanc of the above T i -?:_s'..’ 259
(2} Jingo Products uses the weighted average method in its process costing sysiem. R S S

Last month in the milling depaciment the cost per equivalent unit for conversion
cost was Rs. 105, A total of 540 eguivalent units of conversion cost wero used o
comptite this unit’s cost. The total conversion cost added duting the month was
Us. 54,500. What was the amount of conversion cost in the begmning work in

process inventory?
(@) Rs 0 (b) Rs. 2,200 (¢} - Ks. 4,200
{d)y Rs3000 . (e)  None of these

{1)  Shahzad Corp. uses (he FIFO metbod in its process costing syslem. The conpany
hail Rs. 6,000 of materials cost in its beginning work in process inventory and Lhe
company added Rs. 75,000 in materials cost during the period. The cquivalent
units of production for mateaals were 20,000, The unit cost per equivalent unit
lor materials would be:

() Rs 275 (b) Rs 405 (¢) Rs.030
{d) Rs. 330 (e}  Nonc of these

(4)  Costs in the beginning work in prucess inventory arc sddud to the cost of the
current period when making units cost calculations by:

(2)  The FIFO cust method (b)  The weighted aveiage cost method
(¢)  The quantily scheduie method (d)  LIFO method
(¢)  Nonc of these ,

(5)  Achemical process hus norial wastage of 10% of input. In a period, 2500 kgs of

materiul were input and there was an abnormal loss of 75 kgs. What quantity of

good production was achicved?
(@  2175kgs by 2250 (c) 2325kgs
(d) 24235 kps (e) None of these
(G) Preinium on issue of shares can be used for:
{a)  Payment of dividends (b)  Wniing off preliminary expenses

{¢)  Paying fecs lo direclors {d) Redemption of debentures
{c) None af these
(7). Right shares mean the sharcs which are:
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(8)

(9)

(10

(ih

(13)

(14)

(15)

(10}

(17)

(18)

(19)

{20)

I're incorporaion profit is to be credited to:

(u)  Capital Reserve

() Profit and Loss account above the line

(€)  Profitwnd loss account below the line

(4}  General Premium

(v) None of these

The excess of purchase price over the net assets is:

(a)  Gaodwill {b) Capital Reserve (c) Preliminary expenses
(J)  Share Premium (c) None of these

Statulory report is necessary in the caso of:

(@)  All Companics (b)  Public Limited Companies
(¢} Forcign Companics (d)  Private Limited Companics
() None of these

Dividends are usually paid on:

{w)  Calicd up capital (b)  Paid up capital

(¢)  Paid up capital call m xlvance (d) Subscribed capital
()  Noneoflicse

Provision for taxation of a previous year was Rs. 100,000 and tax assessed for tiat
year Rs 80,000, The aljustment for this is:

fs) A debit of Rs, 100,000 above the line

() Avrediv of Rs.80,000 below the line

(7 A credit of Rs.20,000 above the line

() A credit of R5.20,000 below the line

(v) Noue of these

Amount scl apart to meel losses due 1o bad debl is a:

i) Proviston (b)  Reserve © Lbility
()  Contingent ligbility (e}  Noneof these

Advance Pavment of (ax is in the oature of:

(a)  Asset (b) - Revenue expense (¢)  Liability

() Prepaid expensc (¢) None of these

Values that express preferred behavior and the means by which one achieves
hisfher goals ure known as:

() Terminal values  (b) Dominant values (c) Instrumental values
()  Alicctive values {e) None of these

Evaluative-positive or negative-concerning people, objects, or events ure called:

(%)  Perceptions {(b)  Attitudes (c) Beliefs

(d) Values (c) None of these -

The auditor is required to repost that Financial Stalements are:

(1) True & Coneci (b} True & Fair (¢) Complete & Correct

(d)  Covering all required records (¢) None of these
The wuditors are appointed by the following authoritics:

(w)  Creditors (b)  Deblors (¢)  Share holders
(d)  Diccclors (¢)  Noneuflthese

[nterim audit is conducted for examining the account for:

{a)  lI'ul) une year (b) Nextone year (c) Previous vne year

(d}  Fora part of current yeur (e) Nohe of these
Puyment sheuld be made preferably through:

{i) Cross cheque (b) Bank Drafl (u) Pay order
{d)  Cush basis (¢c)  None of these
AHERROANRIERRN RN
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FEDERAL PUBLIC SERVICE COMMISSION @

COMPETITIVE EXAMINATION FORRECRUITMENT TO POSTS IN

-

NOTE:

6

(i)

Q.No.1:

a)
b)
¢}
d)
c)
f)

8 ]

h)

i)
)

Q.No.2:

a)
b)
¢)
d)

Q.No.3:

BPS-17 UNDER THE FEDERAL GOVERNMENT, 2005.

ACCOUNTANCY & AUDITING, PAPER:I .
S s

'
Al Al N

Attempt FOUR questions in all, moluding QUESTION Nos. 5 & 6, which are
COMPULSORY. QUESTION NO.5 carries 40 markq All or.her questions cany EQUAL
'marks 1.c. 20 marks each. '

Give workings to solution of ‘questions, wherever relevant

Answer the following short questions bnelly

Definc Acorual system of accounting:

Describe three basic functions’sf an accountmg systcm

Define worksheet,

What do you understand by capital ioss? Give an example of capital loss.
Prepare rectifying catry for sales book over cast by Rs. 900,

Make an adjusting cntry for prepaul rent Rs. 1000,

Define “budget ™. - * 4

What do you understand by adjusting entrics? Make thrcc adjusung entrics with

' your own figures, - e "

List down the four typc's of book kcepulg errors
Describe bad. debts recovered.

Differcntiate between the following:
Capital expenditure and Revenue expenditure.
Single entry system and double entry system of bookkccpm;,

+ Receipts & payment account and Income & Expendifure acgount.

Straight-line mcthod and diminishing balance 2590d of. deplecmnon

. Best manufacturing purchased molding machine for Rs.3,00,000 on 1" January

2000, It cost Rs. 6000 on ¢rection of the machine, On 1% July in the same year an
additionul machinery costing Rs.1,50,000 was acquircd. On 1% January 2002, the
maching purchased on L™ January 2000 was disposed off at a price of Rs.75,000.
Deprtciation was provided for annually on 3 1** Deccmber @ 10% per annum on the
cost of the machine. In the year 2002, however, thc followmg changes waic
introduced:

‘The existing method of dcpreciation was replaced with written down value method,

The rate of depreciation was increaged from 10%' to 15%'- re

. Required; -

Machine account as 1t would appear at 3 1" December caoh year from year .
2000 to 2004,

! Page 1 of 4
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Q.No.4: S & Y arc partners with profit sharing ratio as 2:1. The position of the fin
31" December 2004 when they decided to dissolve the business was as follows:

Liabilities Rs. Assets Rs.
Sundry Creditor "~ | 1,50,000 | Plant & Machinery 2,50,000
General Rescrve 1,00,000 { Furniture 40,000
Capital Accounts: : Stock ) 1,00,000
S 2,20,000 | - Debtors 2,00,000
[ Y 2,20,000 | 4,40,000 | Cash at bank 1,00,000
Total ; 6,90,000 | Total _ 6,90.000

The details or realisation was as follows:

S took over plant & machinery and furniture at book value less 10%.
Y look over the stock at Rs. 1,75,000.

Decbtors realized Rs. 1,85,000.

Sundry creditors were settled at a discount of 5%.

AN -

Prepare necessary journal entries and ledger accounts to close the books of the firm.

Q.No.5: Fo]luwing is the Trail Baldnce of Rizwan & Drothers as on December 3 1, 2004.

Particulars Debit | Credit
: Rs. Rs.

| Drawings . 42,600

Machinery - 69,000
| Opening Stock 87,600

Purchases o ) 6,00,000

Capital Account 2,55,000

Sales o 7,14,000

Sales Return 12,600

Purchases Return Lo 11,400

Salarics _ ) 26,400

Stationary o 19,200 2

Apprentice Fee Recer: <. 4,800

Bank overdrait ‘ 8,400

Bad debts K o 10,200 |
Accounts Receivable 192,001 :
Accounts Payable 2 g 60,000 |

Provision for bad debis 6000

Tatal ' 10,59,600 | 10,59,600

Page 2 of 4

THECSSPOINT.COM




Stock on December 31, 2004 was Rs. 1,02,000.

2. Increase bad debts provision on account receivable to 5% and provide discount
reserve oh account receivable at 2%.
3. Depreciale machinery by 10%.
4. Goods taken away by the owner for his penonal use Rs. 2,400. )
5. Machinery purchased Rs. 6,000 was wrongly included in purchases.
6. Unused stationary for Rs. 1,800 wrongly included in closing stock.
7. Apprentice fee to be adjusted for four years.
Note: No depreciation should be charged on the machinery purchased during the year and
on camage paid on such machincry k
Required: -
Trading und Profit & Loss Account for the year ended Dec 31, 2004 and Balance
Sheet afier taking into account the above adjustments.
Q.No.6: Select the most suitable option,
(1) The purchase of machinery on account would
(a) Increase an asset and decrease another assct
(b)  Incrcase an asset und decrease liability
(¢)  Increase an asset and increase liability -
(d)  Decrease an asset and increase a liability
(2)  Ingencral, the accounts in the Income Statement are known as:
(2)  Real Account (b) Contra Asset
(¢c)  Nominal Account (d)  Unrecorded revenue account
(3) - In general terms, financial assets appear in the Balance Sheet at:
(a)  Face Value ()  Curmrent Cash Value-
(¢) - Cash : (d)  Estimated future sales value
(4) A limited Co; sold marketable securitics cost Rs. 80,000 for Rs. 92,000 cash. In
Co’s meomne statement and statement of cash flows respectively, this will appear as:
(a) ARs 12,000 ga.m and Rs.92,000 cash rcceive
(b) A Rs. 92,000 gain and Rs.8,000 cash receive
(¢) A Rs 12,000 gain and Rs.80,000 cash receive
(d} A Rs. 92,000 sales and Rs.92,000 cash receive
(5)  Which of the following is least important as a measure of short-term liquidity.
(a)  Dcbtor Ratio - : (b)  Current Ratio
(c)  Cash flow from operating acuwues (d)  Quick Ratio
(6) Uzma Lud; Net Income was Rs. 4,00,000 in 2003 and Rs. 1,60,000 in 2004. What

(7)

percentage increase in net income must achieve in 2005 to off set the decline in
profits m 2004% :

(@) 60% (b) 150% (c) 200% (d)y 70%
Which of the following does not describe accounting?
(a)  Language of Business (b)  Is an end rather than a mean to an end

()  Useful for decision making
(d)  Used by business government, non profit organizations and individuals.
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(%)

€)

(10)

()

(12}

(13)

4

(15)

(16)

(17)

(1%)

(19)

- @0)

—————

External uses of financial accounting information include all of the following except.
(a)  Investors (b)  Labour Unions

(c)  Line Manager (d)  General Public

A fixed budget is:

(a) A budget for single level of activity

(b) A budget which ignored inflation

(¢)  Used ondy for fixed cost (d)  An overhead cost budget

Heavy cxpenditure on advertisement of a new product is a:

(a)  Capital expenditure © {b) Revenuc expenditare

(c)  Deferred Revenue expenditure  (d)  None of the above

Subscriptions received in advance is:

(a)  An Income (b) AnAsset (c) ALiability (d) ALoss

At the time of admission of a new partner, goodwill raiscd should be written off in:
(a)  New profit sharing ratio  (b)  Old profit shasing ratio

(¢) -+ Sacrificing ratio (d) Gawning ratio

A and B are partners in the ratio of 2:1. They admit C for % share who contributes
Rs.3000 for his share of goodwill. The total value of the goodwill of the firm is:

(@) Rs.3,000 () Rs. 9000 () Rs. 12,000 (d) Rs. 15000
Siles to Mustafu of Rs. 10,000 not recorded in the books would affect:

(a)  Sales Account {b) Mustafa Account

(c)  Sales Account and Mustafa Account

(d).  None of the above

Dcpreciation is a process of:

{a) . Valuation (b)  Allocation

(c) DBotha&b (d) None of these

Loss on sale of an asset should be written off against:

(a)  Share premium account (b)  Sales account

(c})  Depreciation fund account (d) Nouc of the above
Income and expenditure account reveals:

(a)  Cash in hand (b)  Surplus or deficiency

(¢}  Capital account (d)  None of the above

Which of the following is true regarding the work sheet.

(a)  Itis the form, which an accountant uses for his own aid and convenience

(b) It assists in the orderly preparation of the adjustmenis and finaucial
statements at the end of the account periods

(cj  Itcan substitutc for Journal and Ledger

(d) Onlyad&barc truc

The post closing trial balance will:

(@)  Contain only income statemeat accounts

(b)  Contain only balance sheet accounts

{c) - Contain bolh income stalement and balance sheet accounts

(d)  Be prepared before closing entries arc posted to the ledger

The cost of goods and services used up in the process of obtaining revenue are

called: . . ;

(a) Netlocomme (b) Revenue () Expenses (d) LiabiliGes

e Pagc 4 0f4
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR RECRUITMENT TO POSTS IN
BPS-17 UNDER THE FEDERAL GOVERNMENT, 2005.

ACCOUNTANCY & AUDITING. PAPER-II
TIME ALLOWED: THREE HQURS - | MAXIMUM MARKS:100

NOTE: G)  Allcmpt FIVE questions in all, including QUESTION No. 9, which is COMPULSORY.
(ii)  Sclect at least ONE QUESTION from each of the PART A,B,C and D. All questions
carry EQUAL marks

PART-A: ounting
Q.No.1: Distinguish between: (20)
a) Cost accounting and financial accounting.
b) Job order costing and process costing.
c) Joint product cost and by-product cost.
d) Standard cost and budget.

Q.No.2: Rahmat Manufacturing Company uses process costing. The costs incurred in department

No. 2 during the month of January were: (20)
Dircct Material Cost Rs. 1,98,000
Direct Labour Cost Rs, 1,18,800
Factory Overheads Rs. 79,200

The quantity schedule shows that 50,000 units were received from departinent 1 at a
unit cost of Rs, 9. During the month 30,000 units were completed and transferred to
next department. 5000 units were competed but in hand. 5000 units were lost during
processing. The remaining units were in process at the end of the month. The degrce
of completion of the in process units was as follows:

40% of the units were 50% complete.

20% of the units were 60% corplete.

20% of the units were 40% complete.

Balance of the units was 30% complete.

Required:
Cost of production report for department No 2-for the month of January.

PART-B: (Auditing)

Q.No.3: What 3s Internal control? Explain principles of Internal control. Also differentiale between
Internal check, Internal audit and Internal control. (20)
Q.No.4: Define continuous audit. Discuss advantages and disadvantages of continuous audit.

Suggest (he steps that can be taken to reduce (he drawbacks of continuous audit.
(20)

Cov- T - - ﬂ/.»
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Q.No.5:

Q.No.6:

Q.No.7: -

Q.No.8:

-2

- - "er 4 -

A RTC: ’ ‘
Explain the tern “Income from Business” under section 18. What are various

incomes of a person that shall be chargeable under the head “ lacome from

Business” under section 18 of Income tax ordinance 20017 (20)

Compute the taxable income of Mr. Waqar who during the tax year ended June 30,

2004 derived income from the following sources: (20)
| Rs
I Salay | 1,00,000
2 J.oss from speculation on shares 4,000
3 Amnual leave farc assistance 10,000
4 Interest fiec loan received from employer 90,000
5 Overlime payment received : 10,000
6 Rentceilwg paid by the cmployer 1,50,000
7 Zakat paid o 2,000
8  Tax deducted at source 1,000
9  Conveyance allowances (Conveyancé 4,700

provided by employer partly for personal and
partly for official purpose, expenditure

Rs. 12,000)
10 Share from AOP 8,000
11 Gratuity received from the employer 2,10,000
{Approved by CBR)
Amount claimed for Rebate
(4) Shares of listed companies purchased © 13,658
‘(h) Personal legal expenditure 5,000
(¢} Lifc insurance premium paid by cmployce 10,000

PART-D: (Business Organization and Finance

Definc “Joint Stock Compeny”. Idenlify and explain the main points of difference
between Joint Stock Company and other forms of business organization. - (20)

What is Business Pinance? Discuss in detail various financial sources available to 4
new venture, 3 (20)

Cowrd“" 10/3
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0.No.9:

)

(2

(3)

(4)

()

(6)

)

: (20)
Deliver the oom:ct answer in the answer book. Do not reproducc the question. Over writing
is not allowed. Over writing-answer will carry no grade: >
State which of the following are characteristics of job costing:

(i) Homogeneous Products - (i) Customer driven production

(1ii) Complete production possible within a single accounting period.

(a) (i), only (b) () and (ii) only
(c) (1) and (iin) only . (c) (1) and (iii) only
(¢) None of above

State which of the following are characteristics of contract costing:
(i) Homogeneous Products (i) Customer driven production
(111) Short time geale from commencement to completion of the cost unit

(w) (i) and (ii) only {(b) (1) and (i) only
() (1) and (iif) only (d) (ii) only

{¢) None of above

The foliowing exiract is taken from the production cost budget of S. Ltd;

Production (Units) - 2,000 3,000

Production Cost (Rs) 11,100 12 900

The budgel cost allowa.nca for an actiyily level of 4,000 units is y
(a) Rs. 7,200 (b) Rs. 14,700 {c)Rs. 17,200

(d) Rs. 22,200 (€) None of lhcsc vulues

Ditect costs are;

(a) Costs which can be identificd w:th a cost center but not identified to a smgle cost unit.
(b) Costs which can be identified with a single cast unit

(¢) Costs incurred as a direct result of a particular decision.

(d) Costs incurred which can be attributed to a particular accounting period

(¢) Nonc of above

A master budlget comprisoes:

(a} The budgeted profit and loss account 4

(b) The budgeted cash flow, budgeled profit and loss account and budgeted balance shect.
(c) The budgcted cash flow. '
(d) The enlire set of budgets prepared

(¢) None of ahove

‘The best description of a by-product is a Joiat product which;

(a) Has o economivs +aiue

(b) Accounts for a relatively small proportion of the total salcs value of the production process.
(€) Accounts for a relatively small proporuon of the tolal value of the production process.
(d) Wil need to be disposed off" at a cost.

(e) None of above

What type of budget is dcmgnod to tako into &ccount forecast changes in costs, prices eto.
(2) Rolling budget - (b) Functional Budget

(c) Flexible Budget (d) Master Budget

(e) Nooc of them
Q‘;(d i P/9
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(8) ° Working Capatal is he: o
(a) Effective capilal of the company when the busincss is in full swing
(b) Capital borrowed from the bank

(c} Diffcrence between the current assets and current hnbalmes
(d) Nonc of them

(9)  The mosl acccptablo method of measuring income is:
(a) Ta match the costs with revenue
(b) To find oul this dillerence in net worth as on two dates
(¢) To apply normal rate of return on capital invested
(d) None of above

(10)  Up to what level Agriculture income is exempt from tax?
(a) Rs. 80,000 (b) Rs. 100,000
(¢) Totally exempt  (d) Totally taxable
{(c) None of the sbove

(1) Average relicfis available on the following except.
(a) Donation for charitable purpose  (b) Investment in shares
(c) Retirement Anpuity scheme
(d) Mark up on ousing Finonco Schemo . ¥
(c)Donations to Baitul-Mal Fund  (f) None of above

(12Z)  Special 1ax relief is granted to a senior citizen if his age is:
{(a) 50 years or above (b) 60 years or ahove
(c) 65 years or above (d) None of the above

(13) When preparing balanco sheet of a compaoy, Goodwdl, Patents, Trade Mark and designs
come under the head of .
(a) Fixed Assets (b) Fictitious Asoeu
(c) Current Assels  (d) Miscellaneous Expenditure (e) None of above

(14)  When debentuces are issued at par and are redeemable at premium, credit giveo to premius
on redemption of debentures account is in the nature of a:
(&) Personal Account (b) Real Account
(c) Nominal Account (d) None of the above

(15)  In comparison to the extemal auditor, an internal auditor is more likely to be ooowmed with:
(a) Intermal Administrative Control :
(b) Cost Accounting Procedures
(c} Operational Auditing (<) Internal Accounting Control
(¢} None of above -

(16)  Anauditor's uoqualificd short form report: . ,
(a) Implies only, that items disclosed in the financial statemeat and foot notes are propetly -
. presented and takes no position on the adequacy of disclosure.
(b} Iruplics that disclosure is adequate in the financial stalements and foot notes.
(c) Explicitly states that disclosure is adequate in the financial statements and foot notes
(d} Explicitly states that all material items have been disclosed in conformity with generally '
accopted accounting principles
(c) None ofabove

Con LA - --'f/ r

THECSSPOINT.COM




/ e N ‘ u. -;—'

> A S Cek
2 / (17) The rolc of huaucc f‘uncuon in thu future will be;
(8) Tactical (b) Professional Advisor
(c) Stewards (d) Specialist team member
(e) None of above

(18)  In principle current Assets are financed from:
(a) Retained Earning (b) Long term debts
{¢) 1ssue of fresh Capital -~ (d) Current Liabilities
() None of above ‘

(19) A non-banking asset is:
{a) ltem of office equipment  (b) Baok premiscs
(¢} Sceured property acquired from defaulting borrower
{d) All of the above (e} None of the above

(20)  Whea preparing a production budget, the quantity to be produced equals:
: (a) Sales quantity + QOpening stock + Closing stock :
(b) Sales quanuty Opening stock + Closing stock
(c) Sales quaatity — Opening stock — Closing stock
(d) Sales yuantity
(e) None of the above

L -
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